

**TUESDAY NIGHT MAJORS BOWLING LEAGUE****FINAL THIRD SERIES STANDINGS****FEBRUARY 24, 2026**

	<b>SERIES</b>				<b>OPPONENTS</b>	<b>TEAM</b>
<b>TEAMS</b>	<b>POINTS</b>	<b>WINS</b>	<b>LOSSES</b>	<b>TIES</b>	<b>TOTAL</b>	<b>TOTAL</b>
					<b>PINFALL</b>	<b>WINS</b>
W. SWOLUK	165	7	1	0	22472	23
S. SAWCHUK	162	6	2	0	22259	23
A. GOOSE	150	5	2	1	21298	22.5
T. MICHEL	147	5	3	0	22775	19
J. WILLCOTT	137	3	3	2	22368	16
P. MAYO	131	4	4	0	22367	18
D. LAFRAMBOISE	117	4	4	0	22817	14
D. TAYLOR	115	2	6	0	22871	14.5
S. SITAR	110	2	4	2	23332	11
N. FELBEL	107	2	5	1	23422	9
M. SHONOSKY	106	1	5	2	22918	12
G. DEGRAZIA	89	3	5	0	23927	10

**YEAR - TO - DATE LEAGUE STANDINGS**

	<b>YTD</b>				<b>OPPONENTS</b>	<b>TEAM</b>
<b>TEAMS</b>	<b>POINTS</b>	<b>WINS</b>	<b>LOSSES</b>	<b>TIES</b>	<b>TOTAL</b>	<b>TOTAL</b>
					<b>PINFALL</b>	<b>WINS</b>
W. SWOLUK	491	19	3	2	67182	67
T. MICHEL	435	14	7	3	68715	57
A. GOOSE	428	12	7	5	66166	58.5
S. SAWCHUK	406	13	9	2	67497	54
N. FELBEL	385	9	9	6	69043	44
D. TAYLOR	375	10	11	3	67535	47.5
M. SHONOSKY	373	8	11	5	67121	44
G. DEGRAZIA	352	10	13	1	69902	47
D. LAFRAMBOISE	350	7	14	3	68242	42
P. MAYO	347	7	15	2	67105	45
S. SITAR	335	7	13	4	68840	33
J. WILLCOTT	331	8	12	4	68726	37

# TUESDAY NIGHT MAJORS BOWLING LEAGUE

## MATCH PLAY STANDINGS

**FEBRUARY 24, 2026**

A DIVISION	WLT RECORD			PCT.	B DIVISION	WLT RECORD			PCT.	C DIVISION	WLT RECORD			PCT.
TAYLOR MICHEL	59	37	0	0.615	DEVIN KLASSEN	54	24	2	0.688	RICHIE BACCARI	57	25	2	0.690
WES SWOLUK	57	38	1	0.599	AARON PORTO	55	36	1	0.603	SARAH MESERVIA*	24	20	0	0.545
GREG DEGRAZIA	47	35	1	0.572	NICK CAVA	56	40	0	0.583	CODI MICHEL	50	42	0	0.543
DAN TAYLOR	51	41	0	0.554	KYLE GOOSE	47	36	1	0.565	QUENTIN SNIDER JR	46	46	0	0.500
SAYER SAWCHUK*	31	25	0	0.554	JORDYN GRAHAM	51	44	1	0.536	AL PEDRON*	26	29	0	0.473
ADAM GOOSE	44	39	1	0.530	ALYSSA BONNIE	47	43	1	0.522	ANGEL GOODLAD	34	39	3	0.467
JOHN WILLCOTT	40	37	0	0.519	KATIE BONNIE	32	37	1	0.464	ASHLEY BACCARI	31	37	0	0.456
SAM SITAR	44	42	1	0.511	BRANDON FAVEL	38	49	1	0.438	WILL REYNOLDS	34	42	0	0.447
NEIL FELBEL	41	47	0	0.466	ASHLEY TOURIGNY	33	47	0	0.413	Q-BALL SNIDER SR*	23	32	1	0.420
DAVID LAFRAMBOISE	38	53	1	0.418	PAIGE HADLEY	31	47	2	0.400	ANGELA BEGIN	31	46	3	0.406
PHILIP MAYO	28	51	0	0.354	ALEX GERAVELIS	35	55	2	0.391	KAYLA VALIHARJU	36	55	1	0.397
MATT SHONOSKY	30	56	2	0.352	PAT MERINEAU	28	55	1	0.339	BRITTNEY HOOK	31	57	0	0.352

Bowlers must bowl a minimum of 96 games (3/4 of the season) in order to qualify for year-end awards.

\*Does not qualify

# TUESDAY NIGHT MAJORS BOWLING LEAGUE

## INDIVIDUAL CATEGORY LEADERS

**FEBRUARY 24, 2026**

HIGH AVERAGE		HIGH SINGLE		HIGH TRIPLE		HIGH FOUR	
TAYLOR MICHEL	278.64	GREG DEGRAZIA	413	GREG DEGRAZIA	1050	TAYLOR MICHEL	1341
GREG DEGRAZIA	276.11	TAYLOR MICHEL	409	SAYER SAWCHUK	1001	GREG DEGRAZIA	1308
WES SWOLUK	275.18	SAM SITAR	408	TAYLOR MICHEL	997	DAVID LAFRAMBOISE	1294
DAN TAYLOR	267.98	DAN TAYLOR	399	DAN TAYLOR	995	SAM SITAR	1271
ADAM GOOSE	261.10	JOHN WILLCOTT	391	ADAM GOOSE	960	DAN TAYLOR	1239
SAYER SAWCHUK	260.86	WES SWOLUK	388	DEVIN KLASSEN	931	SAYER SAWCHUK	1236
SAM SITAR	259.67	ADAM GOOSE	384	WES SWOLUK	928	WES SWOLUK	1232
JOHN WILLCOTT	256.57	DAVID LAFRAMBOISE	380	KYLE GOOSE	915	DEVIN KLASSEN	1208
NEIL FELBEL	255.05	ALEX GERAVELIS	375	JOHN WILLCOTT	914	KYLE GOOSE	1189
DEVIN KLASSEN	254.13	PAT MERINEAU	368	DAVID LAFRAMBOISE	914	ADAM GOOSE	1189

<b>TUESDAY NIGHT MAJORS BOWLING LEAGUE</b>			
<b>TEAM CATEGORY LEADERS</b>			
<b>FEBRUARY 24, 2026</b>			
<b>TEAM HIGH SINGLE</b>		<b>TEAM HIGH FOUR</b>	
<b>JOHN WILLCOTT TEAM</b>	<b>962</b>	<b>SAYER SAWCHUK TEAM</b>	<b>3242</b>
<b>TAYLOR MICHEL TEAM</b>	<b>958</b>	<b>WES SWOLUK TEAM</b>	<b>3235</b>
<b>WES SWOLUK TEAM</b>	<b>940</b>	<b>DAVID LAFRAMBOISE TEAM</b>	<b>3230</b>
<b>SAYER SAWCHUK TEAM</b>	<b>925</b>	<b>DAN TAYLOR TEAM</b>	<b>3221</b>
<b>PHILIP MAYO TEAM</b>	<b>917</b>	<b>JOHN WILLCOTT TEAM</b>	<b>3207</b>
<b>DAVID LAFRAMBOISE TEAM</b>	<b>902</b>	<b>GREG DEGRAZIA TEAM</b>	<b>3169</b>
<b>SAM SITAR TEAM</b>	<b>882</b>	<b>TAYLOR MICHEL TEAM</b>	<b>3157</b>
<b>DAN TAYLOR TEAM</b>	<b>877</b>	<b>PHILIP MAYO TEAM</b>	<b>3125</b>
<b>ADAM GOOSE TEAM</b>	<b>875</b>	<b>NEIL FEBEL TEAM</b>	<b>3081</b>
<b>GREG DEGRAZIA TEAM</b>	<b>873</b>	<b>SAM SITAR TEAM</b>	<b>3052</b>
<b>NEIL FEBEL TEAM</b>	<b>859</b>	<b>ADAM GOOSE TEAM</b>	<b>3052</b>
<b>MATT SHONOSKY TEAM</b>	<b>808</b>	<b>MATT SHONOSKY TEAM</b>	<b>2895</b>

In order to qualify for Team High Single or Team High Four, all team member must be present. Spares scores do not count.

### Lane Assignments

	<u>25-26</u>	<u>27-28</u>	<u>29-30</u>	<u>31-32</u>	<u>33-34</u>	<u>35-36</u>
Wk25 02-24	6- 7	11- 4	8- 2	9- 3	1-10	5-12
Wk26 03-03	1- 3	9- 2	11- 6	7-12	5- 8	10- 4

### Season High Scores

#### Team Scratch Game

962 WILLCOTT  
 958 MICHEL  
 940 SWOLUK  
 925 SAWCHUK  
 917 MAYO

#### Scratch Series

1341 Taylor Michel  
 1294 David Laframboise  
 1239 Dan Taylor  
 1236 Sayer Sawchuk  
 1189 Adam Goose

#### Scratch Series

1208 Devin Klassen  
 1189 Kyle Goose  
 1134 Nick Cava  
 1121 Katie Bonnie  
 1114 Brandon Favel

#### Scratch Series

1111 Richie Baccari  
 1111 Codi Michel  
 1054 Angel Goodlad  
 1037 Al Pedron  
 983 Ashley Baccari

#### Team Scratch Series

3242 SAWCHUK  
 3235 SWOLUK  
 3230 LAFRAMBOISE  
 3221 TAYLOR  
 3207 WILLCOTT

#### Scratch Game

413 Greg DeGrazia  
 408 Sam Sitar  
 391 John Willcott  
 388 Wes Swoluk  
 363 Neil Felbel

#### Scratch Game

375 Alex Geravalis  
 368 Pat Merineau  
 365 Jordyn Graham  
 353 Aaron Porto  
 347 Alyssa Bonnie

#### Scratch Game

356 Will Reynolds  
 336 Quentin Snider Jr  
 336 Kayla Valiharju  
 318 Q-ball Snider  
 312 Brittany Hook

### Last Week's Top Scores

#### Team Scratch Game

859 FELBEL  
 824 SWOLUK  
 824 MAYO  
 818 MICHEL  
 813 TAYLOR

#### Scratch Game

371 Wes Swoluk  
 358 Neil Felbel  
 340 Taylor Michel  
 317 Dan Taylor  
 312 Matt Shonosky

#### Scratch Game

334 Katie Bonnie  
 319 Nick Cava  
 283 Devin Klassen  
 267 Kyle Goose  
 265 Ashley Tourigny

#### Scratch Game

315 Angel Goodlad  
 309 Richie Baccari  
 279 Will Reynolds  
 269 Matt Cho-Chu  
 259 Angela Begin  
 259 Kayla Valiharju

#### Team Scratch Series

3109 TAYLOR  
 3097 MAYO  
 3024 FELBEL  
 2980 SAWCHUK  
 2919 SWOLUK

#### Scratch Series

1239 Dan Taylor  
 1154 Neil Felbel  
 1150 Sayer Sawchuk  
 1146 Philip Mayo  
 1134 Wes Swoluk

#### Scratch Series

1087 Nick Cava  
 958 Devin Klassen  
 942 Kyle Goose  
 930 Katie Bonnie  
 920 Ashley Tourigny

#### Scratch Series

1054 Angel Goodlad  
 1021 Matt Cho-Chu  
 957 Richie Baccari  
 914 Codi Michel  
 873 Will Reynolds

## Individual High Averages

<b>A</b>	278.64	Taylor Michel	276.11	Greg DeGrazia	275.18	Wes Swoluk	267.98	Dan Taylor	261.10	Adam Goose
	260.86	Sayer Sawchuk	259.67	Sam Sitar	256.57	John Willcott	255.05	Neil Felbel	254.02	David Laframboi
<b>B</b>	254.13	Devin Klassen	253.32	Nick Cava	248.21	Kyle Goose	244.15	Aaron Porto	240.89	Jordyn Graham
	237.97	Katie Bonnie	233.53	Alyssa Bonnie	233.11	Brandon Favel	231.29	Ashley Tourigny	227.68	Paige Hadley
<b>C</b>	240.80	Richie Baccari	223.75	Angel Goodlad	223.73	Codi Michel	219.30	Kayla Valiharju	218.53	Ashley Baccari
	217.95	Will Reynolds	216.21	Quentin Snider J	214.02	Al Pedron	214.00	Q-ball Snider	205.23	Angela Begin

## Team Rosters

	Name	Avg	Total	-1-	-2-	-3-	-4-	High Game	High Sers
<b>1 - SWOLUK</b>	Lane 33 Avg=759								
	Richie Baccari	240	957	252	230	309	166	363	1111
	Wes Swoluk	275	1134	288	371	245	230	388	1232
	Aaron Porto	244	0					353	1053
<b>2 - DeGRAZIA</b>	Lane 30 Avg=722								
	Kayla Valiharju	219	869	259	200	186	224	336	1103
	Paige Hadley	227	793	182	203	207	201	335	1046
	Greg DeGrazia	276	996	a249	a249	a249	a249	413	1308
<b>3 - MICHEL</b>	Lane 32 Avg=734								
	Codi Michel	223	914	225	222	243	224	340	1111
	Alyssa Bonnie	233	893	186	251	235	221	347	1108
	Taylor Michel	278	1035	233	227	340	235	409	1341
<b>4 - FELBEL</b>	Lane 28 Avg=722								
	Neil Felbel	255	1154	358	207	294	295	363	1166
	Q-ball Snider	214	783	227	224	182	150	318	952
	Nick Cava	253	1087	274	250	244	319	350	1134
<b>5 - WILLCOTT</b>	Lane 35 Avg=691								
	John Willcott	256	1022	283	224	241	274	391	1158
	Will Reynolds	217	873	252	163	179	279	356	1020
	Pat Merineau	218	823	260	163	160	240	368	1077
<b>6 - TAYLOR</b>	Lane 25 Avg=712								
	Angel Goodlad	223	1054	264	276	315	199	315	1054
	Alex Geravalis	222	816	194	227	175	220	375	1105
	Dan Taylor	267	1239	317	310	301	311	399	1239
<b>7 - MAYO</b>	Lane 26 Avg=697								
	Ashley Baccari	218	0					308	983
	Katie Bonnie	237	930	196	183	334	217	340	1121
	Philip Mayo	242	1146	302	285	254	305	351	1146
<b>8 - LAFRAMBOISE</b>	Lane 29 Avg=703								
	Quentin Snider Jr	216	779	162	223	200	194	336	1041
	Brandon Favel	233	777	189	197	151	240	350	1114
	David Laframboise	254	902	261	247	203	191	380	1294
<b>9 - SITAR</b>	Lane 31 Avg=695								
	Ashley Tourigny	231	920	265	218	200	237	338	1049
	Angela Begin	205	799	259	196	167	177	306	956
	Sam Sitar	259	979	187	237	297	258	408	1271
<b>10 - GOOSE</b>	Lane 34 Avg=723								
	Al Pedron	214	772	a193	a193	a193	a193	307	1037
	Kyle Goose	248	942	228	185	267	262	360	1189
	Adam Goose	261	935	232	263	242	198	384	1189
<b>11 - SAWCHUK</b>	Lane 27 Avg=710								
	Brittany Hook	196	0					312	885
	Devin Klassen	254	958	283	177	259	239	365	1208
	Sayer Sawchuk	260	1150	281	276	285	308	353	1236

		<u>Name</u>	<u>Avg</u>	<u>Total</u>	<u>-1-</u>	<u>-2-</u>	<u>-3-</u>	<u>-4-</u>	<u>High Game</u>	<u>High Sers</u>
<b>12 - SHONOSKY</b>		Lane 36 Avg=693								
		Sarah Meservia	209	827	192	164	245	226	309	920
		Jordyn Graham	240	738	214	191	169	164	365	1117
		Matt Shonosky	244	1120	252	310	312	246	360	1120

### Temporary Substitutes

<u>Name</u>	<u>Avg</u>	<u>Total</u>	<u>-1-</u>	<u>-2-</u>	<u>-3-</u>	<u>-4-</u>	<u>High Game</u>	<u>High Sers</u>
Brian Bonnie	bk231	0					0	0
Matt Cho-Chu	232	1021	253	263	236	269	348	1039
Aaron Frade	226	0					276	935
Devan Hook	218	872	196	258	183	235	258	872
Shayne Jonasson-Sgamb	bk249	0					0	0
Kayleen Kajorinne	220	828	244	223	162	199	274	954
Dallas Klassen	234	0					315	974
Evan Pastor	bk208	0					0	0
Richard Peltola	234	0					345	1224
Jonny Power	bk229	0					0	0
Robbie Precoma	241	0					273	1009
Justin Reid	225	0					313	986
Jack Snider	224	0					274	972
Amanda Stein	162	0					184	651
Michaela Turner-Mayo	237	0					313	1039
Kasey Wiltshire	215	0					284	894

### Average List of Regular Team Members



#### Division 1: A

<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>True Average</u>	<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>True Average</u>
Michel, Taylor	26749	96	278.64	Sitar, Sam	22591	87	259.67
DeGrazia, Greg	22917	83	276.11	Willcott, John	19756	77	256.57
Swoluk, Wes	26417	96	275.18	Felbel, Neil	22444	88	255.05
Taylor, Dan	24654	92	267.98	Laframboise, David	23370	92	254.02
Goose, Adam	21932	84	261.10	Shonosky, Matt	21505	88	244.38
Sawchuk, Sayer	14608	56	260.86	Mayo, Philip	19142	79	242.30



#### Division 2: B

<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>True Average</u>	<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>True Average</u>
Klassen, Devin	20330	80	254.13	Bonnie, Alyssa	21251	91	233.53
Cava, Nick	24319	96	253.32	Favel, Brandon	20514	88	233.11
Goose, Kyle	20850	84	248.21	Tourigny, Ashley	18503	80	231.29
Porto, Aaron	22462	92	244.15	Hadley, Paige	18214	80	227.68
Graham, Jordyn	23125	96	240.89	Geravalis, Alex	20488	92	222.70
Bonnie, Katie	16658	70	237.97	Merineau, Pat	18342	84	218.36



#### Division 3: C

<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>True Average</u>	<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>True Average</u>
Baccari, Richie	20227	84	240.80	Snider Jr, Quentin	19891	92	216.21
Goodlad, Angel	17005	76	223.75	Pedron, Al	11771	55	214.02
Michel, Codi	20583	92	223.73	Snider, Q-ball	11984	56	214.00
Valiharju, Kayla	20176	92	219.30	Meservia, Sarah	10078	48	209.96
Baccari, Ashley	14860	68	218.53	Begin, Angela	16418	80	205.23
Reynolds, Will	16564	76	217.95	Hook, Brittany	17256	88	196.09